
r , 

bO'- 1/.2" OUT TD 

,�
I 

I 

V I 

v.? 
.-,,. 

ll 
I/

/ 
II 

1 

V I 
/I 

I 

\_'>-JCY I 

""1---------------t' I 
�----------/ f--

2 1/16": J<.. 

SIDEWAL ELEVATION 
1.T.S,

b0'-1 112" OUT 1 OUT OF FOUNDATION 

► A
1/2"• ANCHOIBOLTS @ 12 1/4" O.C. STAGGERED 

I 
I I 

4 

' 

..,,,___---+,o,IL::=±:: -'-=--!1-=--=�=�I ----�-------'-----I 

1-1- t-- -
I 
- - -0 I I

WELDED PLATE CONNECTOR 

---- -t 
I 

- ----+ 

I 

B 

t 

0 

0 

0 

I I 
I I 
I I 
I I 

I I 

I I 

4" CONC. SLAB 
W/ 6X6 6/6 W.W.F. 

4

0 

__ : __ �

L 

_

FO

_

U

_

i

_

AT

-

I

O

_

N 

_
_ 

0 

0 

0 

0 

I I 
I I 

I I 

I I 
I I 
I I 

I 
I 

' 

#6 TIE BARS @ 8' -0" 
O.C. TYP. 

I 
I 
I 

I 
I 
I 
I 
I 
I 
I 
I 
I 
I 

--- 7

I 
0 

I 
I 

-

I 
I 
I 
I 
I-
, 
I 
I 
I 
I 0 

I 
I ( 

B 

' " 
@ 
.0 
0 

0' "' 
:s 

0 

0 
0 .,, 

,j 
ci 
" 

z 
0 
� 
0 z 
::, 
0 

0 
I-

0 
0 
I-

I-
::, 

' -

-----�----------------�"""--'----...__.___,, __ ��-�---·------

40'-B" 

..2'-0" ---2'-0"

II 

I 

8 " 

" 2

, 

� 

9 
'!) 

(a 

7).2• 

OUT TO OUT OF STEEL ARCHES 

( :>'-0' e·-o" 

FRONTWALL ELEVATION 
N.T.S. 

OUT TO OUT OF STEEL ARc.HE5 

/-1\ 

I/ 
� \ 

\ 

r" 
. -\­

REARWALL ELEVATION�\ 
N.T.S. 

... . . . 

/6'\ 

I ,, 

q'-o" 

!,--

I 

--

7\ 

'-... 2) 

□ 

-
/ 

8 

2 

41 '-I" OUT TD □UT OF F□UNDA Tl□N 

PLATE ( CONNECTOR r/
2'

· .,...., ,.r- ...,-
3' ,.,---4-ND. 4 BARS CONT. 

1 ' ''

// 

1/2'� A.B, 3"-

1 / � #6 TIE BARS @8'-0" □ .C.
I"-.. I I / 

7 [ I I 

� I . / 
X X 

\_6x6 6/6 W,W,f. 

I , 
'

X X ,. 

1 " 

• 

, 

712• 

� . 

1] 

I 
I 
I 

I 
I 
I 
I 

I 
I 
I 

ND. 3 @18' □ .C. YP. _/ 
16' 6 MIL VAPOR BARRIER 16" 

0 I 
I 
L _J_ 

WELDED PLATE CONNECTOR \ I 
I 0 

I 
--� - _J -f-

-"<-----O>FI �=l=t,-=_=_=.t.;�
=

_t,==e== ~
=

=".1------,/ L ____ J_ __ Q.:r:l'l':==�:.-f:�=-=�I==--=---=±= '=~==t-=-='+:::::!F�-------
7 I / 

• 1 ' .I 
�� � � 

- ·+-- -,t- -� f - - -\-+ 

5/2" 1?1/4•�_ 1?1/4"! _. A r-- -� 1,j4"1l 1,j4"k : 

FOUt)ATION PLAN 
N.T.S. 

16" 

2 I/lb" --t,-, L, 

1 r- ,
�� / • 11 

I/ 

/I 
( • 

cu � 

�+-~-,1,-__ "_0L.:."\;-�-...,L/'...'.'...,./ 
□.C, TYP.�v ND. 3 @18' 

i 

SECTION A-A 
N.T.S. 

b0'-1 1/2" □UT TD □UT OF F□UNDATI□N

4 ND. 4 BARS CONT, r #6 TIE BARS @8'-0' □.c.

' ' 
l•) X 

X 
I ,,_ 

X • • • 

I I 
• X • • 

[ 
SECTION B-B 

N.T.S. N.T.S, 

II- !FIUf T I I I

( 7

\. 2 I 

9 

" 
2 

�4J.2· 
) 

�� 
� . ,,. N � -

r 
t-.2 I/lb"

' 

] 
' • "'
�� 

� . 
o' !',I 

GENERAL NOTES 
I. ALL MATERIALS AND J,IORKMANSHIP SHALL CONFORM TO 

THE LATEST REVISION OF 11-E.2020 F!lC, MINIMUM DESIGN LOADS
FOR 6l/lLDIN6S AND OTHER STRUC,TIJRES ASCE:/SEI 1-16 AND
COLD-FORMED STEEL DESIGN AISI 200,

.2. FOUNDATION GHANsEs MAY BE REGIJIRED DUE TO LOGAL 
6l/lLDIN5 REGULATIONS, SOIL CONDITIONS OR OTHER FACTORS 
OVER l'IHICH AZ1cG STEEL BUILDIN>5S 

ING. HAS NO CON'TROL.

:>. 11-E FOUNDATION-UNDER STRIP AND PAD FOoTING SYSTEM 
SHALL BE GONSTRIJC,TED ON NA11./RAL VNDISWRBED SOIL 
C.APABLE OF SUSTAINING 1500 pol(A551.!:1EPJ. AND SHALL BE 
DESleNED TO FULL '1"' R.E51ST ROTATION AT THE SASE OF 
THE ARCH. PRESUMPTIVE LOAD BEARINIS VALLE PER 16C, TABLE 
180b.2 

4. SLA6-0H-6RADE SHALL BE PLACED ON i"ELL-C.OMPAClcD 
FILL C.APABLE OF SUSTAININIS 1000 pot HITHOUT SETTLEMENT. 

5. FOR PROPER CONNEc.TION OF THE' BUILDINIS AT THE' 
FOUNDATION, BUILDINIS MUST BE ANCH<?RED TO COMMERc.lAL 
BASE C.ONNEc.TOR-USINIS 'J" OR HEDeE ANCHOR THIS HILL 
CONTROL 11-E ROTATIONAL MOMENT. 

6. SPEC,IFIC. NOTES AND DETAILS SHOHN ON THIS DRAHINIS
SHALL TAKE PREC,EDENC,E OVER 11-E BUILDING leREc.TION
MANUAL �IED.

1. STRUC,11./RAL DESIGN OF 11-E 6l/lLDIN6 IS BASED ON THE RJLL
INTERAc.TION OF ALL ITS COMPONENT PARTS. FAI� TO

MAKE APEGIJAlc PROVISION FOR EXC,ESSIVE STRE'.:CEC OR
INSTABILl1Y OCGURR!Ns- FROM Yil-lATEVER GAUSE DURINe
CONSTRUc.TION SHALL BE 11-E SOLE RISK AND
RESPON5IBILIT'r"' OF TiiE ERECTOR.

8. ALL DIMENSIONS (OTHER THAN f'UREL Y STRUC,11./RAL
DIMENSIONS) SHOWN ON THIS DRAHING SHALL BE VERIFIED BY 

11-E ERB:oTOR BEFORE PROc.EEDINIS HITH THE' HORK. 
<( IT IS THE' OHNER.'5 RESPONSIBILITY TO ASCERTAIN THAT 11-E 

LOADS AND FACTORS SPEC,IFIED lJNDER "DESl6N NOTES" ARE 
APEGIJAlc FOR 11-E INTENDED LOGATION AND OC,C,LJpANc.Y OF 
THIS BUILDING, AND THAT NO LOADS OTHER THAN THOSE SHALL 
BE IMPOSED ON THE' STRIJC,'AJRE. 

10. SCOPE OF HORK IS STRUC,11./RAL AND
FOUNDATIONS ONLY, THIS IS NOT A c.oMPLETE SET OF
GONSTRIJC,TION DOCUMENTS. Sile, DEMO, C.IVIL, Mec.HANIC.AL,
aecrRIC.AL, PWMBINIS, FLOOD PLAIN, GEO-lcCHNIC,AL REPORTS
ARE NOT PART OF THIS HORK.

ll�GONTRA.GTOR TO 'VERIFY AU.. DIMENSIONS • DATA 
SHOHN. ANY DISC.REPANGIES IN THESE PLANS AND/OR Sile ARE 

DESIGN DATA 
FLOORUVELOAD� 

ROOF LIVE LOAD� 

100 PSF 

20 PSF 

. . . 

DEAD LOAD� SELF WEIGHT OF BUILDING 

SNOW LOAD 

Ground Snow, Pg� 

Flat Roof Snow, Pr =0.7*Ce *C1*I3*Pg = 

Roof Slope Factor, C, � 

Slope Roof Snow, P, � C,*P1 �

Design Roof Snow� 

Importance Fac1or, I,� 

Exposure Factor Cc = 

Thcnnal Factor, C, � 

WIND LOADS 
Design Basic Wind Speed � 
Risk Category � 
Wind Exposure =

Internal Pressure Coefficient = 
Comp. & Cladding wind pressure per 

EARlHQUAKE LOADS 
Risk Category: 

Sei<m1ic.: Importance Factor, le =

Ss� 

S1=

Assurred Sile Class� 

Sos = 

Sui =

Seismic Design Category = 

-.... • • ■

IVlr\ I -• I "U I C::0

0 PSF 

0.00 PSF 

0.00 PSF 

66 PSF 
1 

1 Partially Exposed 

1.2 Unheated 

120 MPH 
II 
C 

±0.18 
ASCE 7-16 

II 
1 

0.079 
0.048 

D (Default) 

0.084 

0.077 
B 

STEEL: GALVALUM SHEET STEEL STRUCTURAL QUALITY, ASTIA 
A792-10 GRADE 50, 50 KSI. MIN.YIELD, 65 KSI. MiN. TENSILE. 
DESIGN BASE STEEL THICKNESS, \VITHOUT COATING FOR: 

. 

ARCH SIDE WALL EAVE & ROOF PANELS: (20/22 GAUGE) 
END WAU.S PANELS: (23 GAUGE) 
BOLTS: 5/16-18 X 3/4", SAE GRADE 2. TORQUE 11 ft lb ( 15 � m) 
CONCRETE: MIN. t'c 2500 Psi AT 28 DAYS CURE, ACI 318. 
REBAR: DEFORMED STEEL BARS, ASTIA A 615M/ A GRADE 60, 60 ISi 
\'/WR: WELDED WIRE FABRIC, ASTM A 496 MIN. 60KSI & ASTM A4g 

1/2" DIAMETER 5 1/2" LONG TRUBOLT + SEISMIC WEDGE ANCHOR 
CARBON STEEL WITH ZINC PLATING, DR 1/2" DIAMETER TRUBOLT 
CARBON STEEL WITH HOT DIPPED GALVANIZED. THE ANCHORS SHALi 
HAVE A MINIMUM EMBEDMENT DEPTH OF 3 3/4". No ADDITIONAL 
SPECIAL INSPECTIONS ARE REQUIRED. 

Ar;2proval Nurnber"S= 
Aztec. 5te-el Buf!d1ng Coq;,: 
FL-118>15-R 4 : Ar-c.h Panel 
FL-150:36-� , 5tcmdard Encb•-1011 Panel (3.5" deep / &:llvalvme) 
Steel Sulit Gorp, 
FL-sqe,5, ("PBl-t 4 R" Panels,) 
FL-3122.l, ("PBR" Panels) 
FL-3722.2, ("Z5 T524" Panels) 

.2 '-0 1/.2" ,. 

ARCH PROFILE 

END WALL PROFILE 

• 

d"te 

dr-a�n i.-.. , 

_J 
lL 
IJ) 
\\) 
z 

{i 
{}_ 
\J) d) 
I I  

�C)
-� 
TIJ) 

1-- _J 
IJ) w

2-3-20

R.E.S. 

c.hecked 1--., S.P.fv!. 

revised 4-13-21

sheet no. 

OF ONE 



e 0 • 
e 0 e 

• 

e 
e 

e 8 8 
• 

el 
' 

I • 
e 

t 

• 

• 0 

0 

• 

• 

5EE GLIFiMS A5SEMElL Y DETAIL 
Fl.ATE CONNEGTOR 

� 
SEE MA1£RIAL NOTE FOR LT SPECIFIC.ATION 

� �-.USE 5/16� BOLTS X �/4" LON$ 
FOR �TION PANEL 
TO Pi.ATE CONNEc.TOR 

LIVcRAllY APPL"\" BEADS OF 
EUTY1..E GALJ<INS-VNDER TI-E 
CONNECTOR TO PREVENT LE,ld(S. 

Q)
ARCH PANEL BOLTING DETAIL

C6X2.SXl6 GA

� DRILL HOLES IN HEADER FRAME 
AND VERTICAL FRAME TO RECEIVE 
JAMB/HEADER CLIP U5E 5/16"><:3/4" 
LONG BOLTS 

'I GA.JAMB/HEADER CLII 

5/16-ltlx I '3/& 
SELF DR.ILlJN!S 
SC,.,.. 

------,-----------��-��-�-·���----------�� 

0 

•....,__ :/16"xB/ "LONG BOLTS oa:•i ARCH CONNECTOR G-LIP 
2 t/2x2 l/2x I 3/f>" 16 ga. ® ENDWAALL PANE BOLTING DETAIL

CLIP WING ASSEMBLY DETAIL 

ENDi--lALL PANEL 

.2 

ENDi--lALL CONNECTOR 

C6X2.SXl6 GA 
C6X2.5Xl6 GA 

.2 

5/16"xB/4" LONG BOL T5 @l" O.C.

ENDi--lALL PANEL 

ENDi--lALL P "jNEL 
ARCH CONNECTOR 

2 PANEL� MEETING 
AT CENTERLINE 

• 

• 

USE = 5/16<1> BOL T
�I 

B/4" LONG � 
T
F

O
0R

FR CONNECTION ANEL
PLATE CONNE TOR � --

CEN 
I
RLINE OF ENDJ.'olALL 

• 

® HEADER CLIP DETAIL

(D HEADER CONNECTION DETAIL overhead door only
SEIEE MATERIAL �OTE FOR BOLT SPEC.

DRILL�' HO�ES IN ENDvsALL PANELS AND 
BOLT TO EXlpTING HOLES IN THE ENDi--lALL 
CONNECTOR EVERY 12" 

COJECTED ARCH PANELS 
B/4" 

'lb"xB/4" LONG BOLTS 01'' O.C.

®
ARCH PANEL BOLTING DETAIL

0 0 

ARCH �NELS 

5/16"x'4" LONG BOLTS 

-'\,��/
DOUBLE 8" LAP 

ARCH PANELS 

(D ARCH PANEL CONNECTION DETA.

16-5/16"xB/4" LONG BOLTS

4" 

ARCH PANEL BOLTING DETAIL 

5/lb"xB/4" LONG 
BOLTS @"1" O.C.

� 

OUTER CURVED 
ANGLE 

ENDi--lALL 
PANEL 

V'<EATHER STRIPPI 

INNER CURVED 
AN6LI= 

G) 
ENDWALL CONNECTION DETAIL 

ARCH PANEl,:L 

CAULKliG SHOULD BE APPLIED LIBERALLY UNDER THE ENDi--lALL ���:9��• �����:;�N�1�: ���• ::J-t:. THE ENDi--lALL

" Et,JDWALL CONNECTION DETAIL 

CbX2.5Xl6 GA 

q GA.JAMB/FLOOR CLIP 
INSERT JAMB/FLOOR CLIP 
INTO BOTTOM OF DOOR FRAME 

USE HILTI KWIKI BOTL II 
IQ"<!> .2 B/4" LONG INTO FOUNDATION 

GJ
JAMB CLIP DETAIL man door only

1 NOT�SED 

r 

-

0 
(_) 

� 

z 

U) 
<( 

-

a_ 

z 
LU 

::r: 
a_ 
LU 
1--­
U) 

date 

drQ�n h ' 

2-3-20

R.E.S. 

chee-ked 1--ii S.P.Jvl. 

revised 

sheet no. 

OF TWO 


	001 (2)
	002 (2)

